25%

75kg/10a 55kg/10a

28
]
6
4 6 5 6
1
pH
pH pH5

0 20cm




2
(kgN/10a 2/9 2/26 4/4 5/17 6/27 8/23 11
45kg LP a) b) LP 3 d)
(18.0) (4.5) (22.5) 1.5t
30kg LP @& b) LP @) d)
15kg  (15.0) (12.0) (3.0 (15.0) 1.5t
60kg c) b) b) b) o) d)
(18.0) (6.0) (9.0) (9.0) (18.0) 1.5t
a)N:P:K=14:8:8 70 10%(N:4) 100 7.5%(N:3)
b)N:P:K=21:0:0 c)N:P:K=10:8:8  d)N:P:K=1.3:0.05:0.6
b) ()
kg/10a a) (%)
377.8 (98) 48.8 26.5 38.0 64.5 3.5 17.8
352.4 (92) 58.5 27.0 38.5 65.5 3.8 16.8
3 385.2 (100) 51.0 25.0 38.5 63.5 3.2 18.0
b) ()
kg/10a a) (%)
315.8 (100) 49.1 23.0 34.0 57.0 1.9 19.9
326.0 (103) 54.0 22.5 33.0 55.5 2.1 19.3
3 316.3 (100) 53.6 22.0 33.0 55.0 1.8 19.6
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